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SECTION - A
Answer any two questions from this section. 2x20=40

1. What do you understand by heteroscedasticity ?
What are the consequences of using OLS in the
presence of heteroscedasticity ? Explain the
Breusch-Pagan-Godfrey test to detect it.

2. Given the following data points, estimate a linear
probability model using OLS.

x |-1{-210 1] 1}1

y|0]j0]0]1T[1]1

Use the estimated model to classify individuals

into 2 categories. Calculate the number of correct

classifications using the following classification
rule :

A
15t oroup (y=1)if v > 1
Classify group (y=1)if y > 7/

A
2™ group (y=0)if y < 12
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3. Explain the underlying ideas behind the probit
model. Explain how probit model can be
estimated ?

4. What do you understand by identification of a
simultaneous equation system ? Find out the
identifiability of the following model.

Ci=ag+aY, +u,
Y, =C,+L+G,
(C, Y and I are endogenous variables)

SECTION - B
Answer any five questions from this section. 5x12=60

5.  Explain the concept of BLUE. Prove that OLS
estimates are BLUE.

6.  What is multicollinearity ?* How is the problem
of multicollinearity tackled in a data set ?

7. Consider the relationship between expenditure
and income in 2 time periods as :

Ei=a;+ayY; +u,
State how would you apply the Chow test for
structural stability between the 2 periods.

8.  How isa dynamic model different from the Koyck
model ? (Specify both the models and explain
the difference).

9.  What is indirect least squares method ? Explain
the steps followed in estimation of this method.
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10.

11.

12.

Tfash Wied, SR (Koyck) Aled ¥ H¥ fi= €2
(3T weal 1 forga = ST TR FF TR
e HI) |

sTycas = o fafy s g7 39 fafy & sehea ®
o =il 1 ST ERY e St € 2 9vig S

frafafaa deeaeil = guiq wifsa .
(a) THRAINT R2
(b) THE-T=S IR G-Tos wlew

JiheSl H THEHY i YHET Sl GHAT 39 Fd H
T ? ase o oy wHeds Y ) fommEar s uar H8
TR ?

HHAw Aieed y,=a+bx, +u, & G, W&l b I
ﬁ@ﬁqﬁﬁhﬂﬁwgﬁmoz(l+% 20,
el o2 THfte e ¥
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10. Explain the following concepts :
(@) Adjusted R?
(b) One-tail and two-tail tests

11. When do you encounter the problem of
autocorrelation in data ? Explain how would you

detect the presence of autocorrelation.

12. For the regression model Y,=a+bx,+u, where
b is known, show that the error variance of the

forecast will be o> (1 + —;-), where o2 is the

population variance.
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el 98 (y=1) Afe ; >1

ERERICTIEL .
A (y=0)afk y < 1/
3. Wifae Ateer for snenfiier faaii w e €7 ool
FINT | Yifae Aisd &1 HQ stwford fran ST Tar
2?2 gfgwr fafaw)

4. uq GHI TR % SAfafTuieer (Identification)
¥ Y 1 wuEe v 2 frefafea wiga &1
sAfufuiorzaT <1 Tar armse |

Ct=a0+a1Yt+ut
It=b0+b1 Yt+b2 Yt—l+u2
Yt=Ct+It+Gt

(C, Y 3R [ sidsifa =) §)

W - @&
39 9T ¥ feR=gl urer weAl & S Afs . 5x12=60

5. = ! Heheudl w1 gl sifawl fag wifvg fw
3. T, %A & (BLUE) €1

6. SEHGEAIHIR? e gy ¥ sgHiEd h GHen
¥ Y fuer s €2

7. 2 GAIETYE § 2 iR o1 o1 ey, 30 YHR ¥
E1=a1+a2\{1+u1
E2=b1+b2\{2+u2
2 FHFEE! % ot ST feadr % fo o1 =en
(Chow) T&U &1 & @1 G ? =T HITAT |
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